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bt RVP 21
B 50 Hz 60 Hz
DN m/h 21.0 25.0
BAKT) mbar abs. 1
LIS THLE 3~ 2307400 + 10% 275/480 + 10%
v 1~ 230 +10% 275 +10%
H LT3R 3~ 0.75 0.90
Kw 1~ 0.75 0.90
E LB 4 P 55
E237 B/ oy h 2700 3240
HEHLAME B14
BB/ 90
R s T dB(A) 64 65
BRERE 3~ 185
Kg I~ 19.0
A 421
B 232
C 225
D 63
E 230
F 128
G 0 M8
H 173
I 131
L 28
M 73
N 62
0 4
R 0 gas G1/2"
R eSS RVP 21
ok 1 0.50
VI R VT OIL 68
WA BRI Ltk 00 RVP 21 05
INNBER itk 00 RVP 21 04
FHEM ithes 00 RVP 21 06
IR E]] ks 00 RVP 21 03
HAEER #= FC 20
SER = 00 RVP 2117
HE: ERNESERNTE N, RS (e RVP 21 M),
TERMB SRR <727, BARESER (e RVP 21 7).

bt N (R = Kg x 9.81 (A

1358~) = 25. 4mm

: 15=453.65% = 0.4536T % cfm= m

h x 0.588; inch Hg= mbar x 0.0295; psi= bar x 14.6
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